FERBE-SVIHE 1/3
EEBIBE-A)THER
HAME
§2| ow=s AT 'Sie | Chi% | shee | wERs
(mSv/h) | (mSv/h) | (Bg/cm®) | (Bq/em®)

1 2/22 1FIEEHARE 16 2.0E-2 6500 -2
2 2/22 1FIBSEHAE 28 4.0E-2 38000%2
3 2/22 FIBEHALE 30 4.0E-2 >100000 -2
4 2/21 EAETLNT 1.0E-3 1.0E-3 1.0E+0 <9.20E-6
5 2/16 HY U VB hEH DT E A MSE) 1.0E-3 1.0E-3 <2.3E-1 <6.80E-6
6 2/17 1FEER 1.0E-3 1.0E-3 <2.5E-1
7 2/13 AEKER EBE 3.5E-4 <1.84E-1 <3.92E-6
8 1/29 HEH 3f FPCRHSEE 1.5E-1 6.26E+0 <4.64E-6
9 2/15 KL AIR R A Y 3.0E+0 1.1E+2

10 2/14 1F#EAR HheEBIEE D5 1.0E+0 5.1E-1

11 1/30 1F58#T/B. R/B. 65#T/B. R/B. 565y — K, 2 7EERL 2.5E-1 3.14E+1

12 2/10 3EHEMA Y — FO10m# - Tmi) 3.0E+0 4.0E+0

13 2/7 2 ~4SHEEREIY— R(10m# - Tmig)3 - 4514S/BEB 3.5E+0 4.5E+0

14 2/13 IF B EMELT ) 7 2.27E-2

15 1/30 EHEEEREBRERMER 1.5E-1 5.0E-1 <157E+0 <1.90E-5
16 1/29 EHREERERERERR 2.2E-1 2.5E-1 1.46E+1 <1.90E-5
17 1/26 SEHT/BIFL E—4—% 4 5E-1 1.2E+1 >1.33E+3 | 2.48E-4
18 1/25 3EHT/BIFL E—4—% 4 5E-1 T.1E+1 1.2E+3 3.24E-4
19 1/18 SEHT/BIFL E—4—% 1.0E+0 1.0E+0 4.64E+2 1.01E-3
20 1/30 4EHR/BMBIFL FiRKR4A 5—2 5.0E-2 1.2E-1 1.33E+1

21 1/12 4EHR/B MBIFL FiRKR4A 5 —2= 4 5E-1 1.0E+0 <8.04E-6
22 1/31 4EH# Rw/B 1FL 1.3E+0 9.5E+0

23 1/30 454 Rw/B 1FL 1.3E+0 95E+0 | >133E+3 | 1.01E-3
24 1/31 4EH#R/B P FIFL A=A —F— 9.0E-1 1.3E+0 5.12E+1 2.48E-4
25 1/23 1~354# T/B 1FL 3.5E+0 4.63E+2 <4.29E-5
26 1/31 18 T/BAR70  (tFEEEELE) 1.0E-2 1.73E+1 <4.29E-5
27 1/24 kokTy T 1.5E+1 <1.57E+0 <4.29E-5
28 1/30 CTU7F (vnSnyzNo.1. No. 3) 5.0E-1 8.0E-1 3.72E+1

29 1/25 3EHT/B 1R EEEED 1.5E+1 1.20E+3 4.82E-4
30 2/5 YT IBERY TRE 1.0E-3 <1.57E+0

31 2/7 Y ITRL U ERERE 1.0E-3 1.0E-3 | <157E+0

32 2/1 154 R/BEAITHRR 5.0E+1

33 2/7 25H# T/B 1FL 6.86E-5
34 2/2 4EH#R/B P FIFL A=A —F— 4.0E-1 5.0E-1 4.63E+2 3.07E-5
35 2/8 Y AREREEE B RERSE 4.0E-1 6.2E+0

36 2/18 No.4, No.b &iha v 7Y 9.5E-2

37 1/12 FERERER Ty NITNTRR 1.3E+0

38 1/9~1/12 TOoEREEE mAlv—R 1.5E-2

39 1/5 B RIRE R 1.0E-2 1.0E-2 <4.6E-1

40 1/12 —BRE % <4.6E-1

41 1/10 —BRE FHEH <4.6E-1

42 1/8 —BRE % <4.6E-1

43 1/5 —BRE FHH <4.6E-1

44 1/3 —BRE % <4.6E-1

45 11 —BRE FHEH <4.6E-1

46 1/1 —BRE % <4.6E-1

47 11 —BRE FHEH 5.5E-3 <1.0E-2

48 1/12 —HRE FEmER <4.6E-1

49 1/10 —HRE FmHEH <4.6E-1

50 1/10 —HRE FEmER <4.6E-1

51 1/8 —HRE FmHEH <4.6E-1

52 1/5 —HRE FEmER <4.6E-1

53 1/1 —BRE FOEH <4.6E-1

54 1/1 —RRE HUiEX <4.6E-1

55 /1 —HRE HmHEH 2.0E-2 2.6E-2

56 1/12 RIFERESR BoIREEHESE 2.0E-2 3.0E-2

57 1/12 E_REBH CrNITNIRRA 1.0E-1 2.5E-1

58 1/12 RIGERESR SvANTNAIRA 5.0E-1 5.5E-1




EERBE=AIVIHER 2/3
EERBE-A)VTHR
RAME
23| wes HEBH 'Yae | hEn | shes | onem
(mSv/h) | (mSv/h) | (Ba/em?)| (Ba/em®)
59| 1/5 RREBZ O v TADRN 5.0E-1 5 0E-1
60|  1/12 SPTRE. BRENRE 15E-2 26E-2
61| 1/9~1/12 TrmERE IFL oF 35E-1
62| 1/10 THRHEE 1L 1 6E+0 1.7E+0
63| 1/10 TrRHEE 7L 6.00E+0
64 1/12 W AD R (EAS v O REEEY— F) 370E1 | <6.70E-6
65 /1 TN R(ER Ty DEERARAIY—K) <3.40E-1 <6.20E-6
66| 2/14 ALPST U7 1 5E+0 14E+2 | 10Ee1 | <1.100-4
67| 2/14 BERALPST 1 7 23E-1 10E+1 | 26E+0 | <7.00E-5
68| 2/13 BRALPST U 7 11E+2
69| 2/13 BEALPST 1 7 95E-1 11E+2
0] 2/13 BRALPST U 7 50E2 6OE3 | 24E:0 | <930E-5
| 2/9 BERALPST 1 7 5561 10E+2 | 58E+0 | <7.00E-5
72| 2/8 BRALPST U 7 653 CTOE+0 | <65E-1 | <9.30E-5
73| 2/8 BERALPST 1 7 1 5E+0 10E+2 | B37E+1 | <7.00E-5
74| 2/8 BRALPST U 7 20E+0 18E-1 10E+1 | <700E-5
75| 2/7 BERALPST 1 7 15E+0 10E+2 | 40E+1 | <7.00E-5
76| 2/20 F v A RBETY 7 40E2 35E-1 13E+2 | <489E-5
77| 2/19 S RIRBRET 7 30E-2 20E-1 | 52640 | <489E-5
78] 2/16 F v A RBETY 7 20E-2 60E2 | 77E+0 | <4895
79| 2/15 S RIRBRET 7 80E-3 10E-2 | 656+0 | <489E-5
80| 2/14 Fv A RBETY 7 10E-1 10E+0 | BOE+0 | <489E-5
81| 2/9 S RIRBRET 7 10E-1 40E-1 | 98E+2 | <489E-5
82| 2/8 F v A RBETY 7 89700 -2
83| 2/8 S RIRBRET 7 5.0E-1 22E+0 | <18E+0 | <489E-5
84| 2/20 R REREARREL 7 27E1 T1E+1 | >14E+3 | 131E-4
85| 2/19 ERENERERBREL 7 8.0E-1 30E+1 | >14E+3 | <387E-5
86| 2/16 ERERERERRREL 7 3561 T0E+1 | 6850 | <38/E-5
87| 2/15 ERENERERBREL 7 18E-1 18E-1 | 186+
88| 2/15 ERERERERRREL 7 70E-1 30E+1 | >14E+3 | <387E-5
89| 2/12 ERENERERBREL 7 20E+0 20E+0
90|  2/10 R REREARREL 7 1 2E+0 BOE+0 | >14E+3 | <387E-5
91| 2/9 ERENERERBREL 7 10E-3 10E-3 | 79E+1 | <387E-5
92| 2/9 ERERERERRREL 7 25E+0 13E+2 | >14E+3 | <387E-5
93| 2/8 ERENERERBREL 7 20E-3 55E-2 | 16642 | <387E-5
0| 2/7 ERERERERRREL 7 60E-3 30E-1 14E+1 | <387E-5
95| 2/17 SET/BRM CST L 7561 26E+2 | <B45E-5
%6 |  2/9 3B T/BRMA CSTALD 2051 90E+2
97| 2/19 SPTERE 2FL 1 5E+0 15E+0 | 1.36+1 | <3455
98|  2/13 G3(@m. d). H8 2> Ty 7 70E+0 70E+0 | 16641 | <291E-5
99| 2/20 351 S/B IFLBIFL 10E+2 42841 | 2.156-4
100 2/16 F1 LD A REFL 25E+1 33E+2 | <313E-5
01| 2/5 4 AU HREFL 6561
102 2/20 251 RW/B IFLEUHMADE Y 11E+0 162842 | <3175
03| 2/15 251 RW/B IFL 24E+0 9.42E+1
104|  2/15 284 R/W 1FL 1.4E-1 8.0E-2 E‘;ZS_EQ*; ]X)'_W ?fff{éfﬁ;
05|  2/6 224 RW/B IFL 1.0E+0 206+0 |2E52 5'1 R
106 | 2/9 224 R/B IFL M 7.0E+0 e )X B Ay
107| 2/8 224 RW/B IFL i 708¢0 | 40Es0 |7 lAERSET (8026 57
108| 2/5 254 R/B IFL Ff 20840 13803 H JogeE- 4
100  2/20 3EHR/BE <70 13E+0 76E+1
0| 2/17 3EHR/BA <70 80E-1 61E+0 | <356E5
11| 2/15 3EHR/BE <70 1.0E+0 30E+1




FERBE-SVIHE 3/3
EERBE-A)VTHR
RAME
23| wes HEBH 'Yae | hEn | shes | onem
(mSv/h) | (mSv/h) | (Bg/cm®) | Bq/em®)

12| 2/13 3EMR/BA <70 15640 75E+1

13| 2/13 3EHR/BA <O 7.0E-1 52E+0 | <382F-5
14|  2/8 3EMR/BA <70 7.0E-1

115|  2/20 ¥+ 2 REE 10E-1 10E-1 | <300E-1 | <398E-5
116 2/20 BFvRIBEE 450 *-2

17| 2/15 A%+ 2 REE 2.0E-1 60E-1 | <19E+0 | <497E5
18|  2/14 B¥v o REE 2.0E-1 6.0E-1 43E-1 <3.98E-5
119  2/13 A%+ 2 REE 2.0E-1 6.0E-1 16640 | <782E-6
120 2/9 B¥v o REE 2.0E-1 6.0E-1 43E-1 <782E-6
121]  2/8 A%+ 25 REE 10E-2 7261 <6.26E-6
122 277 B¥v o REE 5.0E-2 33E+0 | <6.26E-6
123 2/21 v— K (BRENERERHRET Y T) 6.0E-2 3.0E-2 25E+2 | <383E5
124 2/20 v—F (BRENERERBRETY7) 1.0E+1 10E+1 10E+1

125| 2/20 v— K (BRENERERHRET Y T) 9.0E-1 9.0E-1

126 2/19 v—F (BRENERERBRETY7) 1.1E+0 75E+1

127  2/19 v— K (BRENERERHRET Y T) C10E-3 | <10E-3 1 0E+1

128 2/19 v—F (BREMERERHBRETY7) 12E-1 35E-1 89E+2 | <383E-5
129 2/16 v— K (ERENERERHRET Y T) 14E-1 40E+0 | >13E+3 | 486E-5
130 2/16 v—F (BRENERERHBRETY7) 3.0E-1 3.0E-1 13E+1 <3.83E-5
131  2/14 v— K (BRENERERHRET Y T) 4.0E-1 25E+1 | >13E+3 | 486E-5
132 2/14 v—F (BRENERERBRETY7) 1.0E-1 BOE+0 | >13E+3

133 2/13 v— K (BRENERERHRET Y T) 10E-3 10E-3 2 3E+1

134 2/13 v—F (BRENERERHBRETY7) 3.0E-1 8.0E-2 20E+2 | <383E-5
135 2/13 v— K (ERENERERHRET Y T) 7.0E-2 13E+1 13643 | <553E5
136 2/10 v—F (BRENERERHBRETY7) 1.1E+0 11E+0

137 2/6 254 R/B 1F ABMAD, BwEY— 2.0E+0 1.0E+1 (2<%E3*E[2X)‘ g‘ﬁ‘afgéé)‘
138 2/15 BEENBERE FLT—28—K T@EY) 18E+1

139 2/14 BRBHNRERE 2FLJ—RE—K> T@Y) 18E+1 45E+1 <313E-5
140 2/20 65 T/B 1FL (10E-3 | <10E-3 | <13E+0

141]  2/19 651 T/B 1FL C10E-3 | <10E-3 | <14E+0

142 2/20 28 R/B IFL JLBM. LBETHT 8.0E+1 8.0E+2

143  2/14 22 R/B IFL Jt&EM. EFHT 7.0E+1 5.0E+2

144 2/13 28# R/B IFL JLFEM. LFEDHT 25E+1 2 BE+1 (‘<11Eg§_f)‘ fﬁ?fgs_ﬁ;‘
145|  2/20 28 EEY—F 12E+0

46| 2/21 Y RFvAOREETUT) 4.5E-1 4.5E-1 86E+0 | <467E-5
147  2/20 SR R FL B RS 45E-3 37E+1

148  2/8 254 T/B 1FL 2.0E+0 4.07E+1

149 | 2/21 354 RW/B TFL 7561 1.0E-1 33E+1
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